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Class Objective: I'll be able to learn the grammar: A/V/IN-(2)— /=0l .

Concept A: Introduction:

This expression is used to introduce a clause that indicates an opposite or an
unexpected state of affairs when compared to the information given in the preceding
clause.

This expression is a combination of ~(2)- /=0l (which describes the situation
under discussion), and ~Ot/0{ & (which indicates concession or contrast).

This expression corresponds to ‘although / in spite of / despite the fact that / even
though / still’ in English.
It shows a stronger contrast and emphasizes the nuance of “even though.”

Sentence pattern for using this grammar will be:
e Fornouns, Past: ~J=0%

For nouns, Present : ~2I 0| &

For adjectives, Past : ~U/A =0 &

For adjectives, Present : ~(2)- U &

For verbs, Past : ~%4/A =0 &

For verbs, Present : ~=0l &

Concept B: A-— /20|, N-2/0l, V-=0l and ~0HH &

Recap:
DN AH20 =0l AHAM = HHEL =1 want to eat but | have no money so | can't.
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